[SEEH]

1. RHERBHEOHE

{RHERBHEL. LNGELPGOE AT (B SREHE) OEBIHLT,
BA.REHNESBEMO mMHYDRE) ZRETIHETT.

AT RFMEHE (83,350 ") EF R IHEHE (3~54 ARID3, ABDLNGELPGO#M A ffitg) DZEZE100M 12DF,
1m#7=Y 0081 (Fitk) AELET,

2. FHMLGARERAEGIM/A)DSRKEDARRE (FR29FE 11 AkEtS)

(1) FHRBHEEDFEE
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47,980 (/") X 0.9576 + 46,970 (/") X 0.0466 =

= 48,134.450 (M/".)
= 48130 (H/".) XI0ARFHEMERA
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83,350 (/%) -

48130 (/%) = 35220 (F3/".)
= 35,200 (/")
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35,200 (/%) X 0.081 (F/m) -

100 (M/*.) X (1

= 3080 (H/m) NN A EIMLUTEY LI

+ 008) = 3079296 (A/m)
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165.96 (F1/m) -

308 (F/m)
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135.16 (F/m) -

135.77 (A/m) =

A061 (A/m)
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<EAEE> <fEE R B> <AREAE>
1,560.00 (M/A) + 13516 (A/m) X 31 (m/8) = 5,749.96 (A/R)
= 5749 (H/A8) XIARBHELET
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